Quiz 1, Math 38, Spring 2012
For those which are possible, give an example. For

Decide which of the following are possible.
In either case, justify your answers.

those which are not possible, explain (or prove) why not.

(1) G is bipartite and contains a 3-clique.
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(2) G has a closed trail which is not a cycle (if so, give the trail).
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(3) Gisa simple digraph whose underlying graph is not simple.
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(4) G is 3-regular with n(G) = 5.
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(5) G is Eulerian and has Ky as an induced subgraph.
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(6) Gis simple and has degree sequence 5,4,4,2,2,1.
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(7) G has Py and (' as subgraphs, but not as induced subgraphs.
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(8) Gis disconnected and 3-colorable, but is not 2-colorable.
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(9) G has exactly two vertices of odd degree, each lying in separate components of G.
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